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= 36,779
fia 36,779
01 Attt 70,918 59,330 11,588

- 363 -




S KA

PSES DN b R sl

=R NE 2el EERE)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
SRS
61,818,000& x 14 61,818
2 30,900
2 30,909
oMEFEII B U A2F 2
6,000,000 *14] 6,000
=2 3,000
2 3,000
OMBFHIIZ ZAILD STOHAY]
1,000,000& x14 1,000
= 500
2 500
ORSHINABAIARE] B4
70,0002 * 108 +32 2,100
= 1,050
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NEA 2208 29 108,762 65,859 42,903
308 MHAIHHSOIA 108,762 65,859 42,903

- 364 -




S A2 A
& a2
el XAl £t 2t EEREE)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
13 SIS0 U etE & HAS ALY 108,762 65,859 42,903
OXAIT KIZMAIAS SAL4
108,762,000 * 141 108,762
NEA &2l 34,072 34,072 0
XAl Hig2el 34,072 34,072 0
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oIz YF 0I8=
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303 Za2 5,000 5,000 0
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3,300,000& %14 3,300
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SR 2l 791,480 733,480 58,000
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01 AFR2t2lHl 170,880 62,880 108,000
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OEMEIIMHEFL 10,0002 *500H 5,000
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1,000,000 =14 1,000
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O gorM 2| &t 550,000 <123 6,600
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OFA &Y =28 400,000 x12& 4,800
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OAEZHI=AbI 40,000,000 14 40,000
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401 AlZ2HI R0 145,000 90,000 55,000
01 Al&H] 145,000 90,000 55,000
OFHAIANE E+TAt
100,000,000 14! 100,000
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OFAF ZIIHMEH SA (4B, 5l
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Ooxtg 2 WAS HE ===
10,000,000 %14} 10,000
OZRLY [ Yt
940,000 *110H~ 123 124,080
o=gll gtz 2,400,000 = 1CH 2,400
02 3324 100,000 75,000 25,000
Oxte =Al2teldl 90,000,000& 14 90,000
0s&8R2= & HAl 10,000,000 %141 10,000
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= 77,998
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oA (L) 60,166,143 55,862,190 4,303,953
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[ 60,113,713
g2y (L) 60,113,713 55,809,760 4,303,953
101 Q124 45,860,215 42,526,362 3,333,853
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OggHs 24,394,517
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= 4,486,5002x169 122 9,098,622
-2 3,525,200 1418123 5,964,639
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O}N=ExE 356,640
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Od A=A 160,000 418« 123 78,720
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M HH2LZHI(NRSAH )
el ols2gyl(aedz) (SH9): &)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
oR=z# 400,000 x 12 *12& *150% 7,200
O4=0 |2 400,000 x18 123 4,800
(OZT=1=-EP R, 350,000 x3H x 12 12,600
(CE=PIEELS) 150,000& x99« 123 16,200
(OL=E=E P IT, 100,000 #23H 123 27,600
02 S8g234l 283,320 265,320 18,000
ovesgrgs+d
100,000& =28« 123 2,400
ozeAIYY T
80,0002 «2H«12& 1,920
OZTNGEERE 100,000& x4« 123 4,800
ONREEs2A
150,000 * 14 =122 25,200
ouueggEsFE 150,000 x6& 122 9,000
OOISB L TR
50,0003 *1H =122 600
ou2I&SH| 50,0002 309 « 123 239,400
4 HsFe=S 13,890,078 12,942,418 947,660
01 gsf8= 10,236,019 9,475,213 760,806
(@)=l=Sg= = 46,261,556, 8002 *9% 4,163,541
OUsFd=2ds
46,261,556,8002 x10.595% 4,901,412
CEEERSEIE
46,261,556, 8002 *2.3224% 1,074,379
ONll24FE=
46,261,556,8002 +0.209% 96,687
02 22AHLEE= 1,907,806 1,725,927 181,879
OZRY AYREH2LI
46,261,556,8002 *3.645% 1,686,234
oz2 MUz
1,686,234,0002 *13. 14% 221,572
04 SRA(RINAH)2Z2X HESRE=S S 1,746,253 1,741,278 4,975
O30t =UASFE=S
2,379,639,0002 4. 5% 107,084
CEEE=EEIENEETEE
3,810,965,0002%4. 5% 171,494
OB 2VAILLZ
1,089,598,0002 %4 5% 49,032
O=Zlletd AFLEFE=
2,379,639,0002 %3.645% 86,738
osdllst IRYLE=
86,738,000 *13. 14% 11,398
CHEI-EEERIEEEEE
3,810,965,0002 *3.645% 138,910
oYUBeN M RYPHE
138,910,0002 %13. 14% 18,253
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SA M2
BI: Y 2ERY| (RS H D) ]
ool o2 (M3 (S &)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
OAlZIRI=Y
14, 7593 x150%* 10AI 2t * 1« 122 2,657
= 1,329
s 1,328
OdZE s 2,413, 1003 %120% 2,8%
= 1,448
= 1,448
Od A=A 140,000& 123 1,680
= 840
@ 840
OxERsd 140,000& « 123 1,680
= 840
Ea 840
OFSgeebat=s 110,000&«12& 1,320
= 660
@ 660
Ould=< 90,0008 123 1,080
= 540
= 540
OS2 4| 118,071& 15 1,772
= 886
@ 886
OIE==E 40,0003 122 480
= 240
= 240
oda=d 2,413, 100& %100% 2,414
= 1,207
= 1,207
04 H=Re=S 6,19 5,129 1,070
= 3,099
= 3,100
04 SRH(PIHA) 22X BEERES S 6,19 5,129 1,070
O82A UEMHEsE FE= 6,19
O=tsFEs
3,750,000 +6. 6%+ 123 2,970
= 1,485
= 1,485
OUZEERES
3,750,000& +3. 7%+ 123 1,665
= 832
= 833
OIIQRLEEFES
1,620,000 %13 15% 13 214
= 107
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S HSEH
T #FSYA| (HPEH D)
Chel: IR HHI (MRS H ) EER=E)
SN - B - BAGH) - NRAY - BES ol st T DS
= 107
OLEEERES
3,750, 000& *1.8%x 122 810
= 405
s 405
OUTHEERE2
3,750,000& *1. 2%+ 122 540
= 270
s 270
JI2ZHI(M23 A 92,288 79,540 12,748
J12ZBI(MS3IAHD) 92,288 79,540 12,748
201 LB+ 44,168 39,960 4,208
01 Al 2telt] 44,168 39,960 4,208
oYgt=2H] 22,340,000& 14! 22,340
O=Altl 13,392,000& * 141 13,392
oYXz 8,436,000& 14| 8,436
202 048l 43,200 34,600 8,600
01 =LHOALI 43,200 34,600 8,600
OYR=AII20HI 43,200,000 « 14 43,200
203 ZR=&l| 4,920 4,980 260
04 FAE2S Y2 4,920 4,980 260
ORAM2ZHRFAY|
410,000 ~12& 4,920
HRES (MR 1) 3,000,000 3,000,000 0
LIS HeHXIE 3,000,000 3,000,000 0
LA AL A= 3,000,000 3,000,000 0
RII=8&E=2 3,000,000 3,000,000 0
01 JI=dES 3,000,000 3,000,000 0
OBAMAHEIIS MES
3,000,000,000& *141 3,000,000
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